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* You design websites for local businesses.

—You charge $200 per website, and currently sell
12 websites per month.

* Your costs are rising (including the 1 ;[rngiﬂ W) SEE 1 VH 2%
opportunity cost of your time) o agiER HY A 2 IO\ AT BE
— You consider raising the price to $250. ﬂj@ﬁ%, H g o2

* The law of demand: you won't sell as many
websites if you raise your price.
— How many fewer websites?

— How much will your revenue fall, or might it
Increase?
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o MU K2 I — A
_AQ/Q:AQ,E E Ql_Qo_Po

d — i
AP/P AP Q P-P 0O,
\ ST e 7 Standard method of computing the
O ,'T—ZP'\ §$“T$ EI/(J 1+ﬁ : 2L for your percentage (%) change:
websites
P
end value—start value
B = x 10054
$250 start  value
$200 A Going from A to B:

« the % change in P = ($250-
D $200)/$200 = 25%
» the % change in Q = - 33%
8 12 « Price elasticity = 33/25 = 1.33
Going from B to A:
» the % change in P =-20%
« the % change in Q = 50% We get different values!

* Prce elasticity = 50/20 = 2.5
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_AQIQ_ . Q-0 (R+R)/2_AQ R+R
AP/P " P-P, (0,+0,)/2 AP 0 +0Q,

o ,E;'}[&§$ ‘fi E]’(j ﬂ—:ﬁ . Demand for your websites

d

P
B - - .
$250 Using the midpoint method of
$200 A computing % changes:
D
8 12 E

$250 - 5200
$225

= ;3 % 100% = 40%

% change in P = x100% =22 2%

% change 1n Q =

40%

18
22.2% 1

Price elasticity =
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Use the following information to calculate the Using the midpoint method to calculate

price elasticity of demand for iPhones: percentage changes:
« if P =$400, Q4=10,600 * % change inP =
« if P =$600, Qd=28,400 [($600 - $400)/$500] x100 = 40%
+ Use the midpoint method to calculate * % change in Q¢ =
percentage changes. [(10,600 — 8,400)/9,500] x100 = 23.16%

+ Price elasticity of demand =
= % change in Q¢/ % change in P
= 23.16/40 = 0.58
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Demand for your websites
Inelastic demand

(elasticity = 0.82)

increased
P revenue
due to N\ lost If P=%200, @=12,
higher P revenue | and revenue = $2400
$250 due to
| \Jlower Q@ | s p-g250 @ =10,

$200
and revenue = $2500

When D is inelastic,
Q 4@ price increase
10 12 causes revenue to rise.
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Demand for your websites
Increased
P revenue
due to lost
Jhigher P revenue
$250 due to
$200 lower Q
D
Q

s LT S BRI b, IS

Elastic demand
(elasticity = 1.8)

If P=%$200, Q= 12,
and revenue = $2400

If P=%250, @=8, and
revenue = $2000

When D is elastic,
a price increase
causes revenue to fall.
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A. Pharmacies raise the price of insulin by
10%.

— Does total expenditure on insulin rise or fall?

B. As a result of a fare war, the price of a
luxury cruise falls 20%.

— Does luxury cruise companies’ total revenue
rise or fall?
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¢ E, >0, IE% M (normal goods)
¢ E, <0, k&4 (inferior goods)
¢ E,>1, ZZ4 (luxury goods)

¢ 0<E, <1, Wi (necessity goods)

Qs=D(P; Pr; P¢; P% m; P, P,,...,P.)
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When supply is
inelastic, an
Increase in
demand has a
bigger impact
on price than
on quantity .

Beachfront property
(inelastic supply):

When supply
is elastic,

an increase in
demand has a
bigger impact
on quantity
than on price.

New cars
(elastic supply):
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(a) The Qil Market in the Short Run

1. In the short run, when supply and
demand are inelastic, a shift in supply. . .

Price

(D) The Qil Market in the Long Run

2 ... leads
to a small
increase in

1. Im the long run, when supply
FPrice and demand are elastic, a shift

in supply. . .

OPECK & AF i
B, A

Cluantity
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pe = 50 — Qf

3
Pt-1 = > Q;
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o AR LEVARISZM AR ET% TR, price floor)

The equilibrium wage ($6) labor

is below the floor and W surplus g
therefore illegal.

The pnice floor is binding, s
causes a surplus (i.e.,
unemployment). $6.00

Price
floor

Minimum wage laws do
not affect highly skilled
workers. They do affect
teen workers. A 10%
increase in the minimum 400 530
wage raises teen

unemployment by 1-3%.
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4k = 2320 253
P 2180 26
il b 2200 2000 1800 2 20 18
i 7§ 1880 1760 1630 198 18.5 172
RE4T 1980 1910 1850 20.8 20.1 19.5
i T 1910 1710 1580 1420 192 17.2 15.9 143
1880 1760 1640 1540 19 18 17 16
1860 1610 1450 18 14 13
2590 23
I
1650 1500 1430 1340 20 18 17 16
i 2030 1960 1810 1660 21 20.5 19 175
i 1850 1730 1610 185 173 16.1
S 2100 1000 1700 21 19 17
2000 1800 1600 196 17.6 15.6
2010 1800 1650 1520 195 18 16.5 15
1030 1740 1550 19 17 15
2300 1900 1720 1620 22 18.1 17 16.1
2360 02
1810 1580 1430 175 153 14
1830 1730 1680 163 154 149
2100 2000 21 20
2100 1970 1870 »n 21 20
1790 1670 1570 186 175 16.5
1900 1750 1600 18 17 16
1850 18
1950 1850 1750 19 18 17
1820 1770 1720 1670 19 18.4 17.9 174
1700 152
=R 1950 1840 1750 18 17 16
# 1900 1700 1620 1540 19 17 16.2 154 %%7)5'\: }\flﬁ)mf’ﬂl
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o fERAABUR [A1¥ 9% Wik B A i IR T=$1.5

Effects of a $1.50 per Hence, a tax on buyers
unit tax on buyers

shifts the D curve down by
the amount of the tax.

The price buyers pay is now
$1.50 higher than the market
price P.

P would have to fall by $1.50

to make buyers willing to buy
same Q as before.

+ Eg. if P falls from $10.00

Q to $8.50, buyers are still
willing to purchase 500

DiZZas. _|.
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Effects of a $1.50 per New equilibrium:
unit tax on buyers « =450
p + Sellers receive
s Ps = $9.50
Py =$11.00 [~ '« Buyers pay Pg
e10 =$11.00
Ps - $9.50 Difference
between them =
D, $1.50 = tax
D,

Q
450 50C
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how the burden of a tax i1s shared among
market participants

[=
In our
example, Pz =%$11.00%
buyers pay $10.00
51.00 more,  p_=$9 50—
sellers get
$0.50 less.




o RUNBURE 7] A= 7= st B B AL i AEAR T=$1.5
Effects of a $1.50 per

[=]
$11.504

$10.00

unit tax on sellers

D,

500

The tax effectively raises
sellers’ costs by $1.50
per pizza.

Sellers will supply 500
pizzas only if P rises to
$11.50, to compensate
for this cost increase.
Hence, a tax on sellers

shifts the S curve up by
the amount of the tax.

Q@
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Effects of a $1.50 per
unit tax on sellers New equilibrium:
p « =450
 Buyers pay Pg =
$11.00
« Sellers receive
PS = $95D
Difference
between them =
$1.50 = tax

$11.00 }-—--————

= $9.50
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Pp=$11
$10| /INNE
Py=$9.5 /

450 500

450 500




o The market for hotel rooms 1s 1n equilibrium as in the graph. Suppose the
government imposes a tax on buyers of $30 per room. Find the new Q, Py, Pqg,
and incidence of tax

The market for | The market for

P hotel rooms P hotel rooms
th S Q = 80 130 S
130
120 Pa=$110 | 120
110 Py =110
100 Ps=$80 100 -

A

50 ~ Incidence 50

80 D _ P = 80 ! D

-0 buyers: $10 70

60 —sellers: $20 60

50 a0

L 1.

0

60 70 80 950 100 110 120 Q 60 708090 100 110 120 Q
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=13 N U N T U

P It's easier for
sellers than
Buyers’ share Py ~] buyers to leave
of tax burden J the market.
Price if no tax _{} So buyers bear
/ b most of the
Sellers’ share -~ Pg burden of the tax.
of tax burden
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It's easier for

i S buyers than
Buyers’ share sellers to leave
of tax burden HHF B~ | O the market.

Sellers bear most
of the burden of
the tax.

Price if no tax——{----=2:---- :

Sellers’ share .l
of tax burden Ps
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The market for

yachts
F

Buyers' share
of tax burden x.__fﬂ ~.

=]

%Tax
Sellers’ share >
of tax burden P,

Demand is
s price-elastic.

In the short run,
supply is inelastic.

Hence,
companies
that build
yvachts pay

g most of
the tax.
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